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(a) Mr. X took a loan of Rs. 2,00,000 on which interest
is payable at the rate of 10% per annum. However,
he wants to start repayment only at the end of
third year from now. What should be the annual
payment if the total loan and interest is to be
repaid in 6 instalments? : (5)
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3010 3
(b) State giving reasons whether the following

statements are true or false

(i) Profit it is not an operationally feasible

criteria for financial decision making

(i1) Payback period is a method of liquidity

rather than profitability (10)
Or

(a) Describe briefly the major types of financial

management decisions that a firm makes. (5)
(b) From the following data calculate
(i) Operating, Financial and Combined leverage

(i) The percentage drop in sales to make the

earnings per share zero

B.T.0.
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EBIT 6000000
I8 WO T H HY TR S 2 (5)
Profit after tax 960000
Fixed Cost 1500000 .
, (q) TRH gfewlv & FFEN AT H A WA R A
Tax rate 40% ]
=T T oWl S el Bl @ S & Wied HwA
Preference dividend 240000
i & fog 99 @ T T W IwEm i
. (10)
2.  PQR Limited is considering the purchase of a machine
to replace an existing machine that has a book value
of rupees 48000 and can be sold for Rs. 24000. The SR 20000
gfr R FAE 10
salvage value of the old machine in 4 years is zero
PIE 3ieaTel 10
and it is depreciated on a straight-line basis. The Ke 010
proposed machine will perform the same function the ufy oty 3rofera merer 5
old machine is performing however improvement in v foder 400000
technology will enable the firm to reap cash benefits
before depreciation and taxes of Rs. 120000 per year 5. Gregar Bt =5 $ie dtc 4 Fafaias o Sue=r €

in materials and labour. The new machine has a four-

year life, costs Rs. 250000 and can be sold for an
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expected r-upees‘32400 at the end of the fourfh year.
The new machine will also require an installation cost
of Rs. 50000 in the beginning and will be depreciated
on WDV method, the rate being 25% per annum.
Assuming 40% tax rate, compute cash flows
associated with the replacemént and suggest to the
company whether it should go for the replacement or

not if its cost of capital is 10%. (15)

Or
XYZ Limited is evaluating a project to install a machine
system. It estimates that the annual slavings from
mechanization include a reduction of 5 clerical
employees with annual salaries of Rs. 30000 each,
Rs. 16000 in material losses during production, and

Rs. 7000 in other operating costs. The purchase price

PO
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of the system is Rs. 2 lakh and the installation costs
are Rs. 50000. Its useful life is estimated at 5 years.
These outlays will be depreciated on a straight-line
basis to Rs. 20,000 book salvage value. Though its
market value at the end of 5 years will be zero.
Operation of the new system requires the services of
two trained operators at an annual salary of Rs. 42000
per person: Also, annual maintenance and operating
cash expenses of Rs. 8000 are estimated to be
required. The company’s tax rate is 40% and its ROR
(cost of capital) for this project is 12%. You are
required to calculate the project’s payback period and
NPV and suggest to the company whether it should

purchase the system? (15)

(a) Explain the behaviour of cost of debt, cost of equity

and overall cost of capital under the traditional
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approach to capital structure. Is there an optimal

capital structure as per this approach? (5)

(b) XYZ Ltd. is evaluating two financing plans.
Assuming a 50% tax rate and an expécted EBIT

of Rs. 600000, determine from the data given below
(i) The EPS for each plan,

(i) The financial break even points for each

plan,

(i) At what level of EBIT would the company

be indifferent to which of these two plans

is selected. (10)
. Plan A Plan B
Bonds Rs 80000 at 10% Rs 150000 at 10%
10% Preference 8000 shares of 4000 shares of
stock Rs 30 Rs 40 each
Common stocks 20000 shares 24000 shares

P.T.0,
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Or

ABC Ltd has the following book value capital structure

Rs in lakhs
Equity capital (in shares of Rs 10 each fully paidup | 20
at par)
Retained eamings 10
12% preference capital (in shares Rs 100 each fully |35
paid up at par)
10% debentures (of Rs 100 each) 10
11% term loans 5

The next expected dividend on shares is Rs. 4 per
share, the dividend per share is expected to grow at
the rate of 8%. The market price per share is Rs. 40.
Preference stock redeemable after 10 years is
currently selling at Rs. 75 per share. Debentures
redeemable after 6 years are selling at Rs. 80 per
debenture. Income tax rate for the company is 40%.
Compute the weighted average cost of cépital using

book value proportions. (15)
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At 4. (a) Companies U and L are identical in every respect

except that U is unlevered while L has

vagarssie feifics v Wi woeh e s & Rre e
Rs. 10,00,000 of 8% debt. EBIT of both firms is

URAISHT T TR &Y @ Bl AGAA 2 R e B
Rs. 6,00,000 and tax rate is 35%. Equity

A 30000 TF A1k 9N A 5 Fifts wERaE & 39,

capitalisation rate for U is 10%. Calculate the

ITUET = SR 16000 T & A S IR 7 IRIATAT ST

cost of equity and value of each firm according to

#7000@@%%1%@@?1@2%@ :
2 S T # R 50000 TS B SEERT SIHINE S9AT

MM approach. (5)

e 5 W 21 o uReE @ & _ad T 20,000 (b) XYZ Limited was started a year ago with a paid-

T D TF A a9 l e R N up equity capital of rupees 20 lakh. The other

details are as under ;

39 A TUR IR A I B WG S TOrell @ IR

= fow ufa = 42000 T@ & offs 399 w = wlERE

L e v S, S D | Earnings of the company Rs 200000
fifer TEET S GRETe e T A T S 2w Dividend paid Rs 160000

T H W W 40% B 3R 29 uRASET & Frw gEET SRR | : Price earnings ratio 12,5
(ISR W AR 12% 21 ARAET 9 Y9 S s T Number of shares | 40000

P.F.C.
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. Find the market price of a share of the company
at this payout ratio using walter’s model. Is the
company’s dividend payout ratio optimum as per
walter’s model? Why? (10)

Or

(a) What is ‘informational content’ of dividend

payment? explain how it affects the share value.

(5)

(b) As per MM approach the payment of dividend
does not affect the value of the firm. Use ‘the

data below to prove this statement.

Number of outstanding shares 20000
Eaming per share 10

P/E ratio 10

Ke 0.10
Expected dividend per share 5

New Investments 400000

(10)
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(15)
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(@) Frafafea sl @ T ik

(i) oRerew, fadim st Tgea S,
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e

(10)

IR 6000000
T & a1g o 960000
RARTT a 1500000

W @l &I 40%
R e 240000
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The cost sheet of PQR Ltd. provides the following
data :

Particulars Cost per Unit (Rs.)
Raw Material 50

Direct Labour 30

Overheads 20

Total Cost 100

Profits 20

Selling Price 120

Average amount of backup stock is:

Raw materials two months
Work in progress (50% complete) half month
Finished goods one month

Credit allowed by suppliers: one month; credit allowed

to debtors: two months. Average time lag in payment

- of wages: 15 days; average time lag in payment of

overheads: one month. 40% of the sales are on cash

basis. Cash balance expected to be Rs. 2,00,000.

You are required to prepare a statement of the

working capital needed to finance a level of the activity

P.1.0.
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of 84,000 units of output. Add 15% to your computed
estimate to allow for contingency. Production is carried
on evenly throughout the year and wages and
overheads accrue similarly. State your assumptions, if

any, clearly. (15)
Or

(a) Explain in brief the non-synchronization cash flows
and short cost as factors in determining the cash

needs of a firm. (5)

(b) A firm has annual credit sales of Rs. 1500000, It
grants 2 months credit to its customer with no
cash discount facility. It intends to offer a discount
of “2/10 net 60°. It is expected that this will reduce
the average collection period to one month and
50% of the customers (in value) will take
advantage of this benefit. The selling price is
Rs. 10 while the average cost per unit comes to
Rs. 8.6. You are required to advice the firm
regarding this new scheme presuming that the
required return on investment is 25% and one
month is of 30 days. (10)
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